EARAROBEEIERT — 2 N— IBISH —F

201789R27H (k) 13EEM4H

M C2= 5% 3%t (w8 | imEmml - |5 @) o s
[AE4£] 1% :350,000 ™  23%&:84,000”  33&:42,000H 437 :28,000H .~ 57&:21,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s TEE :33. -0-2- . - HTHE (EM)
1B TT>>ETDAR 4 o 1(3_3)5 proet | 408 1 (‘_1?2) FHEE
RixLTHXANAN BI—Y2VIVET FERS
Sy S — 4 4 | JIRE— 1:33.9 3-3-3-3 |40.9| — 2 473 | AEREE (k)
ol 7|/ T *T 54.0 2172 (o) | AR
RiFATAT v — Bi/—Hvv b Y F 5 745
< 7 it 6 | ETHR— 1:34.0 4-4-4-4 | 40.9| — 7 450 | BB (FElH)
(Y 2 DA YA 54.0 (3/4) (o) |FIEXCRA
XD THANAIN BT ATA AN [A:Eve ]
_. N e HEHRMNE : —1-1- — #RHEE (BR)
4l5|5|FTT—U S i 5 el 1.7311:11 1-1-1-2 | 41.4 6 (4_416) el
R:d—IWRKF7Y2—)b B:ILHCMA=—7 HBET7—L4
NN = e :34. —6-5- . — IRAF (FEiH)
5189 T4 70-—5 % 3 54_0% 1(334)6 6-6-5-5 | 41.0 4 ;1:515) ik
L:I-3>747—-F B:I-o>I—1— FERS
S o6 | KIFHA 1:34.9 7-7-6-6 | 41.2| — 8 475 | BAE— ()
61718 INWWT 74T .0 (1 3/4) +1) =I=KF
L:ALT747 B:F3A/ECD e
. it o4 | RAEBRE 1:35.5 8-8-8-8 |41.0| — 9 410 | HEB (FEh)
71810/ 7> &L X 54.0 (31/2) (1) |G
R:Fh¥<71248 B:v—7Uv=Zvyia REE #uim
R R EAfEnE . _10-10- — FAHEE (EM)
gl1l1|xra>TNERZ H o4 g 1.(336).0 10-10-10-10| 38.6 3 zzgg) (ﬁ)EEJb77—A
R:T7NT5T BAXH) MLZEZ— HBET7— L4
N NN R ihEt :36. ~5-7~ . — NEH (EH)
o) 3| 77V N=T > s Gaey | T e 1 féo) ) 7o
L:A—-LisFL4Aa B:7I954TT77 b HEFERS
S 3 | Afi—R 1:36.2 9-9-9-9 |41.1| — 5 419 | WDiEE ()
10 2| 7T X 55.0 (1 1/4) (-25) EHES
R:Tw IRy y b BivARLY—F 173835
® 1—F—@EBIERL
1T=7r= 5,6,7,4,3,9,8,10,2,1
2a=5F= 5,6,7,4,3,9,8,10,2,1
Ja=5= 5,6,7,4,9,8,3,10,2,1
43—+ — 6,5,7,4,9,8,3,10,2,1
[ /N
B 6 180M4 714K 6-7 130 e E 6-7 190M JEE 4-6-7 1,420H
B B 6 1204 4-6 730M B = 6-7 200M EE 6-7-4 3,750/
7 130H4 4-7 980M B H 6-7 400M
4 300H

ABICOVWTRDTEEERROODE. TR LIV,




